
 

 

 

Q. Find the inverse of the following matrices, if they exist, by elementary transformations: 

1. 














 

310

015

102

 ans.  























225

5615

113

 

2. 
















 542

752

321

  ans.   





















102

114

123

 

3. 






















211

423

532

 ans.   























1351

2392

210

 

4. 














 

140

032

103

  ans   























9128

232

343

   

5. 




















723

204

412

  ans.   























22/14

6111

12/12

  

6. 
















310

015

075

   ans  























3/118/118/1

06/16/1

030/730/1

 

7.  















 

311

012

101

 ans  























2/12/12/1

123

2/12/12/3

 

8. 
















361

143

352

  ans.  























2/12/11

2/114/37/4

2/114/37/3

 

9. 




















052

503

231

 ans.   























25/925/15/3

25/1125/45/2

5/35/21

  

10. 
















273

742

132

  ans.   























29/229/529/2

29/1229/129/17

29/1729/129/41

  

11. 
















261

143

352

  ans.   























3/13/13/2

3/121/121/5

3/121/821/2

 



 

 

12.  

















113

321

210

  ans .   























2/12/32/5

134

2/12/12/1

 

 


